
PFW 6858
 Installation Guide

Installationsanleitung, Guía de Instalacíon, Guida de Installazione, Guide d’Installation, Installatie gids

www.vogels.com  |  Europe  +31 (0)40 26 47 400

MOUIN_PFW6858_V02

Max: 72kg/160lbs

PFW 6858
Installation Guide
Installationsanleitung, Guía de Instalacíon, Guida de Installazione, 
Guide d’Installation, Installatie gids



PFW 6858
Installation Guide
Installationsanleitung, Guía de Instalacíon, Guida de Installazione, Guide d’Installation, Installatie gids

 PRIOR TO THE INSTALLATION OF THIS PRODUCT, THE INSTALLATION INSTRUCTIONS MUST BE READ AND 
COMPLETELY UNDERSTOOD. KEEP THESE INSTALLATION INSTRUCTIONS IN AN EASILY ACCESSIBLE LOCATION 
FOR FUTURE REFERENCE.

 PREMIER MOUNTS DOES NOT WARRANT AGAINST DAMAGE CAUSED BY THE USE OF ANY PREMIER MOUNTS 
PRODUCT FOR PURPOSES OTHER THAN THOSE FOR WHICH IT WAS DESIGNED OR DAMAGE CAUSED BY 
UNAUTHORIZED ATTACHMENTS OR MODIFICATIONS, AND IS NOT RESPONSIBLE FOR ANY DAMAGES, CLAIMS, 
DEMANDS, SUITS, ACTIONS OR CAUSES OF ACTION OF WHATEVER KIND RESULTING FROM, ARISING OUT OF OR 
IN ANY MANNER RELATING TO ANY SUCH USE, ATTACHMENTS OR MODIFICATIONS.

 

 Warning Statements

 Weight Limit

Maximum Flat Panel Weight: 160 lbs.

THE SURFACE MUST BE CAPABLE OF SUPPORTING AT LEAST FOUR TIMES THE WEIGHT OF THE DISPLAY. IF NOT, THE 
SURFACE STRUCTURE MUST BE REINFORCED. THE MAXIMUM WEIGHT THAT CAN BE USED WITH THIS PRODUCT IS 160 
LBS. PROPER INSTALLATION PROCEDURE BY A QUALIFIED SERVICE TECHNICIAN, AS OUTLINED IN THE INSTALLATION 
INSTRUCTIONS, MUST BE ADHERED TO. FAILURE TO DO SO COULD RESULT IN SERIOUS PERSONAL INJURY, OR EVEN 
DEATH.

SAFETY MEASURES MUST BE PRACTICED AT ALL TIMES DURING THE ASSEMBLY OF THIS PRODUCT. USE PROPER 
SAFETY GEAR AND TOOLS FOR THE ASSEMBLY PROCEDURE TO PREVENT PERSONAL INJURY.

At least two qualified people should perform the assembly procedure. Injury and/or damage can result from dropping or mishandling 
the display. 

If mounting to studs, make sure that the mounting screws are anchored into the center of the studs. Use of an edge-to-edge stud 
finder is recommended.

Be aware of the mounting environment. If drilling and/or cutting into the mounting surface, always make sure that there are no electrical 
wires in wall. Cutting/drilling into an electrical line may cause serious injury. 

Make sure there are no water lines inside the wall where the mount is to be located. Cutting/drilling into a water line may cause severe 
water damage to the mounting surface.

This product is intended for indoor use only. Use of this product outdoors could lead to product failure and personal injury.

Do not install near sources of high heat. Do not install on a structure that is prone to vibration, movement or chance of impact.

Installation Tools:

Pencil Protective EyewearElectronic Stud Finder M6 or 1/4” Drill Bit 3/8” Masonry Drill Bit

Portable DrillPhillips Head Screwdriver Socket Wrench13mm or 1/2” SocketLevel

www.vogels.com  |  Europe  +31 (0)40 26 47 400Page 2

PFW 6858
Installation Guide
Installationsanleitung, Guía de Instalacíon, Guida de Installazione, Guide d’Installation, Installatie gids

 PRIOR TO THE INSTALLATION OF THIS PRODUCT, THE INSTALLATION INSTRUCTIONS MUST BE READ AND 
COMPLETELY UNDERSTOOD. KEEP THESE INSTALLATION INSTRUCTIONS IN AN EASILY ACCESSIBLE LOCATION 
FOR FUTURE REFERENCE.

 PREMIER MOUNTS DOES NOT WARRANT AGAINST DAMAGE CAUSED BY THE USE OF ANY PREMIER MOUNTS 
PRODUCT FOR PURPOSES OTHER THAN THOSE FOR WHICH IT WAS DESIGNED OR DAMAGE CAUSED BY 
UNAUTHORIZED ATTACHMENTS OR MODIFICATIONS, AND IS NOT RESPONSIBLE FOR ANY DAMAGES, CLAIMS, 
DEMANDS, SUITS, ACTIONS OR CAUSES OF ACTION OF WHATEVER KIND RESULTING FROM, ARISING OUT OF OR 
IN ANY MANNER RELATING TO ANY SUCH USE, ATTACHMENTS OR MODIFICATIONS.

 

 Warning Statements

 Weight Limit

Maximum Flat Panel Weight: 160 lbs.

THE SURFACE MUST BE CAPABLE OF SUPPORTING AT LEAST FOUR TIMES THE WEIGHT OF THE DISPLAY. IF NOT, THE 
SURFACE STRUCTURE MUST BE REINFORCED. THE MAXIMUM WEIGHT THAT CAN BE USED WITH THIS PRODUCT IS 160 
LBS. PROPER INSTALLATION PROCEDURE BY A QUALIFIED SERVICE TECHNICIAN, AS OUTLINED IN THE INSTALLATION 
INSTRUCTIONS, MUST BE ADHERED TO. FAILURE TO DO SO COULD RESULT IN SERIOUS PERSONAL INJURY, OR EVEN 
DEATH.

SAFETY MEASURES MUST BE PRACTICED AT ALL TIMES DURING THE ASSEMBLY OF THIS PRODUCT. USE PROPER 
SAFETY GEAR AND TOOLS FOR THE ASSEMBLY PROCEDURE TO PREVENT PERSONAL INJURY.

At least two qualified people should perform the assembly procedure. Injury and/or damage can result from dropping or mishandling 
the display. 

If mounting to studs, make sure that the mounting screws are anchored into the center of the studs. Use of an edge-to-edge stud 
finder is recommended.

Be aware of the mounting environment. If drilling and/or cutting into the mounting surface, always make sure that there are no electrical 
wires in wall. Cutting/drilling into an electrical line may cause serious injury. 

Make sure there are no water lines inside the wall where the mount is to be located. Cutting/drilling into a water line may cause severe 
water damage to the mounting surface.

This product is intended for indoor use only. Use of this product outdoors could lead to product failure and personal injury.

Do not install near sources of high heat. Do not install on a structure that is prone to vibration, movement or chance of impact.

Installation Tools:

Pencil Protective EyewearElectronic Stud Finder M6 or 1/4” Drill Bit 3/8” Masonry Drill Bit

Portable DrillPhillips Head Screwdriver Socket Wrench13mm or 1/2” SocketLevel

www.vogels.com  |  Europe  +31 (0)40 26 47 400Page 2



PFW 6858
Installation Guide

Installationsanleitung, Guía de Instalacíon, Guida de Installazione, Guide d’Installation, Installatie gidsIncluded Components:

Wall Bracket (Qty.1)

5/16" x 3" Lag Bolt 
(Qty.4)

M5 Security Allen 
Key (Qty.1)

M4 x 16mm Comb.
Screw (Qty.4)

M6 x 30mm Comb. 
Screw (Qty.4)

M8 x 16mm Comb. 
Screw (Qty.4)

M8 x 25mm Comb. 
Screw (Qty.4)

M8 x 30mm Comb. 
Screw (Qty.4)

M4 x 25mm Comb. 
Screw (Qty.4)

M4 x 30mm Comb.
Screw (Qty.4)

M6 x 16mm Comb. 
Screw (Qty.4)

M6 x 25mm Comb. 
Screw (Qty.4)

Universal Spacer 
(Qty.8)

M6 x 12mm Button 
Security (Qty.1)

M6 Lock Washer 
(Qty.1)

M10 x 30mm Comb. 
Screw (Qty.4)

5/16" Washer (Qty.4) Griplate™(Qty.4) Finned Anchor 
(Qty.4)

Straw (Qty.1) 5/32" Allen Key 
(Qty.1)

Cross Bar (Qty.1)

Mounting Bracket (Qty.2)

1 2

Remove the M6 Knurl Knob from the wall mount 
and place it aside.

X

X

1. Use a stud finder to determine the center of wall  
 studs in the vicinity of the wall plate.
2. Use a pencil to mark the center of each of the wall  
 studs.

Wood Installation

Rotational Stop
(Qty:1)

M6 x 25mm 
Flat Screw (Qty.3)

www.vogels.com  |  Europe  +31 (0)40 26 47 400 Page 3

PFW 6858
Installation Guide

Installationsanleitung, Guía de Instalacíon, Guida de Installazione, Guide d’Installation, Installatie gidsIncluded Components:

Wall Bracket (Qty.1)

5/16" x 3" Lag Bolt 
(Qty.4)

M5 Security Allen 
Key (Qty.1)

M4 x 16mm Comb.
Screw (Qty.4)

M6 x 30mm Comb. 
Screw (Qty.4)

M8 x 16mm Comb. 
Screw (Qty.4)

M8 x 25mm Comb. 
Screw (Qty.4)

M8 x 30mm Comb. 
Screw (Qty.4)

M4 x 25mm Comb. 
Screw (Qty.4)

M4 x 30mm Comb.
Screw (Qty.4)

M6 x 16mm Comb. 
Screw (Qty.4)

M6 x 25mm Comb. 
Screw (Qty.4)

Universal Spacer 
(Qty.8)

M6 x 12mm Button 
Security (Qty.1)

M6 Lock Washer 
(Qty.1)

M10 x 30mm Comb. 
Screw (Qty.4)

5/16" Washer (Qty.4) Griplate™(Qty.4) Finned Anchor 
(Qty.4)

Straw (Qty.1) 5/32" Allen Key 
(Qty.1)

Cross Bar (Qty.1)

Mounting Bracket (Qty.2)

1 2

Remove the M6 Knurl Knob from the wall mount 
and place it aside.

X

X

1. Use a stud finder to determine the center of wall  
 studs in the vicinity of the wall plate.
2. Use a pencil to mark the center of each of the wall  
 studs.

Wood Installation

Rotational Stop
(Qty:1)

M6 x 25mm 
Flat Screw (Qty.3)

www.vogels.com  |  Europe  +31 (0)40 26 47 400 Page 3

PFW 6858
Installation Guide
Installationsanleitung, Guía de Instalacíon, Guida de Installazione, Guide d’Installation, Installatie gids

5

3

6

4

1. Place the wall mount against the wall and align it  
 with the pilot hole.
2. Insert one (1) 5/16" x 3" lag bolt and one (1) 5/16"  
 washer into the upper right mounting hole and  
 tighten using a socket wrench and 1/2" socket.

1)  Level the wall mount.
2)  Use a pencil to mark the remaining three (3)   
mounting locations along the center of each wall stud.

Drill a "pole hole" in the center of the upper right mark 
using a 1/4" drill bit and power drill.

1. Place the wall mount against the wall in the   
 desired viewing location.
2. Use a pencil to mark the upper right mounting  
 location alone the center of the wall stud.

Do not over tighten the lag bolt. 

www.vogels.com  |  Europe  +31 (0)40 26 47 400Page 4



PFW 6858
Installation Guide
Installationsanleitung, Guía de Instalacíon, Guida de Installazione, Guide d’Installation, Installatie gids

5

3

6

4

1. Place the wall mount against the wall and align it  
 with the pilot hole.
2. Insert one (1) 5/16" x 3" lag bolt and one (1) 5/16"  
 washer into the upper right mounting hole and  
 tighten using a socket wrench and 1/2" socket.

1)  Level the wall mount.
2)  Use a pencil to mark the remaining three (3)   
mounting locations along the center of each wall stud.

Drill a "pole hole" in the center of the upper right mark 
using a 1/4" drill bit and power drill.

1. Place the wall mount against the wall in the   
 desired viewing location.
2. Use a pencil to mark the upper right mounting  
 location alone the center of the wall stud.

Do not over tighten the lag bolt. 

www.vogels.com  |  Europe  +31 (0)40 26 47 400Page 4

PFW 6858
Installation Guide
Installationsanleitung, Guía de Instalacíon, Guida de Installazione, Guide d’Installation, Installatie gids

5

3

6

4

1. Place the wall mount against the wall and align it  
 with the pilot hole.
2. Insert one (1) 5/16" x 3" lag bolt and one (1) 5/16"  
 washer into the upper right mounting hole and  
 tighten using a socket wrench and 1/2" socket.

1)  Level the wall mount.
2)  Use a pencil to mark the remaining three (3)   
mounting locations along the center of each wall stud.

Drill a "pole hole" in the center of the upper right mark 
using a 1/4" drill bit and power drill.

1. Place the wall mount against the wall in the   
 desired viewing location.
2. Use a pencil to mark the upper right mounting  
 location alone the center of the wall stud.

Do not over tighten the lag bolt. 

www.vogels.com  |  Europe  +31 (0)40 26 47 400Page 4

PFW 6858
Installation Guide

Installationsanleitung, Guía de Instalacíon, Guida de Installazione, Guide d’Installation, Installatie gids

7 1

1. Insert one (1) 5/16" x 3" lag bolt and one (1) 5/16"  
 washer into each pilot holes.
2. Tighten all lag bolts using a socket wrench and  
 1/2" socket. Two people are recommended for this step: one 

person to level the wall mount and another person to 
mark the mounting locations. 

Concrete Installation

2 3

Drill four (4) pilot holes of each mark using a drill and 
3/8" masonry drill bit.

Insert the Finned Anchors into each pilot hole. 
Lightly tap each Finned Anchors into place with a 
hammer.

Do not over tighten the lag bolt. 

www.vogels.com  |  Europe  +31 (0)40 26 47 400 Page 5



PFW 6858
Installation Guide

Installationsanleitung, Guía de Instalacíon, Guida de Installazione, Guide d’Installation, Installatie gids

7 1

1. Insert one (1) 5/16" x 3" lag bolt and one (1) 5/16"  
 washer into each pilot holes.
2. Tighten all lag bolts using a socket wrench and  
 1/2" socket. Two people are recommended for this step: one 

person to level the wall mount and another person to 
mark the mounting locations. 

Concrete Installation

2 3

Drill four (4) pilot holes of each mark using a drill and 
3/8" masonry drill bit.

Insert the Finned Anchors into each pilot hole. 
Lightly tap each Finned Anchors into place with a 
hammer.

Do not over tighten the lag bolt. 

www.vogels.com  |  Europe  +31 (0)40 26 47 400 Page 5

PFW 6858
Installation Guide

Installationsanleitung, Guía de Instalacíon, Guida de Installazione, Guide d’Installation, Installatie gids

7 1

1. Insert one (1) 5/16" x 3" lag bolt and one (1) 5/16"  
 washer into each pilot holes.
2. Tighten all lag bolts using a socket wrench and  
 1/2" socket. Two people are recommended for this step: one 

person to level the wall mount and another person to 
mark the mounting locations. 

Concrete Installation

2 3

Drill four (4) pilot holes of each mark using a drill and 
3/8" masonry drill bit.

Insert the Finned Anchors into each pilot hole. 
Lightly tap each Finned Anchors into place with a 
hammer.

Do not over tighten the lag bolt. 

www.vogels.com  |  Europe  +31 (0)40 26 47 400 Page 5

PFW 6858
Installation Guide
Installationsanleitung, Guía de Instalacíon, Guida de Installazione, Guide d’Installation, Installatie gids

4

1. Insert one (1) 5/16" x 3" Lag Bolt and one   
 (1) 5/16"  washer into each pilot holes.
2. Tighten all lag bolts using a socket wrench and  
 1/2" socket.

Do not over tighten the lag bolt. 

1) Insert a small straw or toothpick into the threaded inserts found on the 
back of the flat-panel.

2) Use a pencil to mark the depth of the threaded insert on the small straw 
or toothpick.

3) Mark the straw or toothpick 1/8” above the depth of the threaded insert, 
as shown in Figure 1.

4) Insert the small straw or toothpick into the remaining threaded inserts 
to compare and verify their depth using the straw or toothpick’s 1/8” 
allowance mark.

5) Locate the correct diameter screw for the threaded insert. 

 If the screw you selected is longer than the 1/8” allowance mark on 
the small straw or toothpick, as shown in Figure 2 and Figure 3, do 
not use this screw. The screw length must not bypass the mark.

6)   Test each size of the screws provided.  
The correct screws should thread easily into themounting point and 
not pull out when tension is applied.

Small Straw or Toothpick

Marking the 1/8” 
Allowance

Small Straw  
or Toothpick

Small Straw  
or Toothpick

Depth Plus 1/8” Allowance
Mark

Depth Plus 1/8” Allowance
Mark

Selecting the Mounting Hardware

www.vogels.com  |  Europe  +31 (0)40 26 47 400Page 6



PFW 6858
Installation Guide
Installationsanleitung, Guía de Instalacíon, Guida de Installazione, Guide d’Installation, Installatie gids

4

1. Insert one (1) 5/16" x 3" Lag Bolt and one   
 (1) 5/16"  washer into each pilot holes.
2. Tighten all lag bolts using a socket wrench and  
 1/2" socket.

Do not over tighten the lag bolt. 

1) Insert a small straw or toothpick into the threaded inserts found on the 
back of the flat-panel.

2) Use a pencil to mark the depth of the threaded insert on the small straw 
or toothpick.

3) Mark the straw or toothpick 1/8” above the depth of the threaded insert, 
as shown in Figure 1.

4) Insert the small straw or toothpick into the remaining threaded inserts 
to compare and verify their depth using the straw or toothpick’s 1/8” 
allowance mark.

5) Locate the correct diameter screw for the threaded insert. 

 If the screw you selected is longer than the 1/8” allowance mark on 
the small straw or toothpick, as shown in Figure 2 and Figure 3, do 
not use this screw. The screw length must not bypass the mark.

6)   Test each size of the screws provided.  
The correct screws should thread easily into themounting point and 
not pull out when tension is applied.

Small Straw or Toothpick

Marking the 1/8” 
Allowance

Small Straw  
or Toothpick

Small Straw  
or Toothpick

Depth Plus 1/8” Allowance
Mark

Depth Plus 1/8” Allowance
Mark

Selecting the Mounting Hardware

www.vogels.com  |  Europe  +31 (0)40 26 47 400Page 6

PFW 6858
Installation Guide
Installationsanleitung, Guía de Instalacíon, Guida de Installazione, Guide d’Installation, Installatie gids

4

1. Insert one (1) 5/16" x 3" Lag Bolt and one   
 (1) 5/16"  washer into each pilot holes.
2. Tighten all lag bolts using a socket wrench and  
 1/2" socket.

Do not over tighten the lag bolt. 

1) Insert a small straw or toothpick into the threaded inserts found on the 
back of the flat-panel.

2) Use a pencil to mark the depth of the threaded insert on the small straw 
or toothpick.

3) Mark the straw or toothpick 1/8” above the depth of the threaded insert, 
as shown in Figure 1.

4) Insert the small straw or toothpick into the remaining threaded inserts 
to compare and verify their depth using the straw or toothpick’s 1/8” 
allowance mark.

5) Locate the correct diameter screw for the threaded insert. 

 If the screw you selected is longer than the 1/8” allowance mark on 
the small straw or toothpick, as shown in Figure 2 and Figure 3, do 
not use this screw. The screw length must not bypass the mark.

6)   Test each size of the screws provided.  
The correct screws should thread easily into themounting point and 
not pull out when tension is applied.

Small Straw or Toothpick

Marking the 1/8” 
Allowance

Small Straw  
or Toothpick

Small Straw  
or Toothpick

Depth Plus 1/8” Allowance
Mark

Depth Plus 1/8” Allowance
Mark

Selecting the Mounting Hardware

www.vogels.com  |  Europe  +31 (0)40 26 47 400Page 6



PFW 6858
Installation Guide

Installationsanleitung, Guía de Instalacíon, Guida de Installazione, Guide d’Installation, Installatie gids

1

2

Slide the mounting brackets into the cross bar.

Align the brackets to the display mounting holes. Use the depth measuring straw to determine 
the appropriate hardware. Use four (4) M4, M6, or M8 screws depending on display and four 
(4) Griplate™ (Universal Washer). Use Universal Spacer if necessary. 

Bottom

Top

M4, M6, or M8 screws

Griplate™ (Universal Washer)

Universal Spacer (Optional)

Top of display

Bottom

Rotational Support
(Top of display)

www.vogels.com  |  Europe  +31 (0)40 26 47 400 Page 7



PFW 6858
Installation Guide
Installationsanleitung, Guía de Instalacíon, Guida de Installazione, Guide d’Installation, Installatie gids

3

4

M8 x 10mm Set Screw

CL

Center the cross bar to the display and tighten the two (2) M8 x 10 Set Screws using the 
5/32" Allen Key to secure the brackets. 

1. Install the Rotational Stop with (3) M6 x 25mm Flat Head Screw.
2. Reversible in either left or right orientation. 

M6 x 25mm Flat 
Head Rotational Stop

CLOCKW

ISE
PRT.

LA
N

D
.

PRT.

LA
N

D
.

C
O

UNTER-

www.vogels.com  |  Europe  +31 (0)40 26 47 400Page 8



PFW 6858
Installation Guide

Installationsanleitung, Guía de Instalacíon, Guida de Installazione, Guide d’Installation, Installatie gids

Two or three person is recommended for this step. Lift the cross bar and place it into the wall mount..

5

6

Install the M6 Knurl Knob removed from step 1 to secure the cross bar from dislodging.

www.vogels.com  |  Europe  +31 (0)40 26 47 400 Page 9



PFW 6858
Installation Guide
Installationsanleitung, Guía de Instalacíon, Guida de Installazione, Guide d’Installation, Installatie gids

7

8

Tighten the two (2) screws (located on the side of the wall mount) once the final position is attained.

Tension
Screw

M4 x 8mm Set 
Screw

Place a level on the rotational support. Loosen/tighten (2) M4 x 8mm Set Screw to level the display arms for 
perfect 90° (Portrait) and 0° (Landscape) orientation. 

Level

Level

Rotational Support

www.vogels.com  |  Europe  +31 (0)40 26 47 400Page 10


